FEmSHRER
{478 VRN1400

(5% | T HME |

1) |E#IE ) VIBRATOR SHAFT (28x1780mm-M42)

1.) |ZE#)EVIBRATOR SHAFT (28x3000mm-M42)

1) |ZE#)EVIBRATOR SHAFT (38x1000mm-M42)

1) |[ZE#)EVIBRATOR SHAFT (38x1780mm-M42)

1) |ZE#)EVIBRATOR SHAFT (38x3000mm-M42)

1.) |ZE#)EVIBRATOR SHAFT (28x1000mm-M42)

2)  HHEEFEE-VRN1400COUPLING (BLACK) 41
3) | AFETF EHBUESPANHEAD TAPPING SCREW-B (M5x25) 1
4.) |FEEEFLAT WASHER (05x012x1) 1
5.) @K EE-VRN1400GEAR PLATE (SILVER) 666
6.) |IN/AN/A

7. INJAN/A

8.) EEREHK6202BALL BEARING (6202) 127
9.) [#EF--VRNI400ARMATURE (220V-94x54x45) 1,085
9.) [#EF-VRNI400ARMATURE (110V-94x54x45) 1,155
10.) | FEERE#HAR 6200BALL BEARING (6200) 139
11.) ZEAE-ME7500/4FAN SHROUD (BLACK) 23
12.) NG B HHE SIS PANHEAD TAPPING SCREW-B-W/WASHER (M5x60) 4
13.) |7 +-VRNI400STATOR (110V-94x54x45) 930
13.) |7 +-VRNI400STATOR (220V-94x54x45) 883
14) |E#EF(EIRE)-EVI6GOMOTOR HOUSING (ORANGE-021C) 296
15.) |Belf BE-ME7500/4CARBON BRUSH HOLDER (7x17) 45
16.) |B|CARBON BRUSH (7x17x17) 37
17.) Bl Z-ME7500/4BRUSH CAP (7x17) 7
18.) |4ZHAEH)-VRNI400SOFT START (220V) 660
18.) |4ZH#EH)-VRNI400SOFT START (110V) 743
18.) |4ZH#EH)-VRNI1400SOFT START (220V) 660
18.) |4ZH#EH)-VRNI400SOFT START (110V) 743
19.) |B#RH-VRN1400SWITCH (110V&220V) 338
20.) |E4FEEECORD ARMOR 17
21.) |FEJR4R-VDE(TP-41)(16A)POWER SUPPLY CABLE (VDE-1.5x2Cx4M-HO5VVF) 279
22.) EFMRCABLE CLIP 1
23.) | HFELF HIIELAPANHEAD TAPPING SCREW-B (M4x14) 1
24.) #8453 -VRN1400HANDLE HALF-RIGHT (BLACK) 165
25.) |H8F-7F3-VRNI1400HANDLE HALF-LEFT (BLACK) 165
26.) | HIEA+F HIAELAPANHEAD TAPPING SCREW-B (M4x25) 1
27.) | HIE+F B IIELAPANHEAD TAPPING SCREW-B (M4x20) 1
28.) | HFE+F HAIELAPANHEAD TAPPING SCREW-B (M5x50) 1
29.) |F7AE 2 £)SUPPORT STRAP (ORANGE) 186
29.) |F7Af & £)SUPPORT STRAP (BLUE) 186
30.)  IN/AN/A

31 |7SATEIRSRHEX BOLT (M8x45xP1.25) 4
32.) |HEF-HAREH)-EVISSIDE HANDLE SHAFT (M12xP1.75/M8xP1.25) 66
33.) |{HI#E-EVISFRONT HANDLE (M12xP1.75) 60
34.) |FHEEFEE]SPRING WASHER (M5) 1
35.) | HFE+F HIELAPANHEAD TAPPING SCREW-B (M4x8) 1
36.) [EMC-VRNI400ELECTRONICS UNIT (220V) 169
36.) |[EMC-VRNI400ELECTRONICS UNIT (110V) 169

FIHIEIHE



